Assembly Instructions

Dining Table



@xz e==_" =9
—— [B——o

We recommend using hand tools for assembly.
If an electric screwdriver is used, reduce power and torque to avoid damage to the product.

P-02



Make sure all parts are included. Most board parts are labeled or stamped on the raw edge.
Contact us for a free replacement if you encounter any damaged or missing parts.

P-03



Parts List

—
]

T

& /
Ny
@ 2pcs ® 1pc ®2pcs
1 I
O 2pcs @ 4pcs ®1pc
Hardware List
A [X04+1] B | X24+1] C D [X8+1

(35

: Eﬁ&f/.;'

F15X12 mm

@BX35 mm @8X30 mm @10X50 mm D7X47 mm
F | X8+1 G | X12+1 H | X4 I | X1
i d TN ——
e | ((0000(0) I
NN —
B7X67 mm MBX30 mm | M6XJ30 mm M4X64 mm

P-04



A | X4

(] (11

@B6X35 mm

@8X30 mm

P-05



S
—

@15X12 mm

E X8 I [ X
[Eimb
@8X30 mm DTX47 mm M4X64 mm

P-06



F | X8

[ty

D7X67 mm

M6X230 mm

P-07



@10X50 mm

G | X12
(o)
M6X30 mm

P-08



Thank you for your support!





